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Scheme S1 Structures of the ionic liquids used in this work.

Calculation of the modified Space-Time-Yield (STY) according equation (1):

𝑆𝑇𝑌 =  
𝑚 (𝑐𝑖𝑠 ‒ 2 ‒ ℎ𝑒𝑥𝑒𝑛𝑒)𝑌𝑚𝑎𝑥

𝑚 (𝑝𝑎𝑙𝑙𝑎𝑑𝑖𝑢𝑚) ∙ 𝑡𝑌𝑚𝑎𝑥

 [𝑔𝑝𝑟𝑜𝑑. 𝑔𝑃𝑑
‒ 1 𝑚𝑖𝑛 ‒ 1]

Table S1  Space-Time-Yields

Catalyst
n

(2-hexyne)
/ mmol

Y
(cis-2-hexene)

/ %

m
(cis-2-hexene)

/ g

m
(Pd)
/ mg

t

/ min

STY
/ gprod gPd

-1 
min-1

30[BMPL][DCA]-1Pd/SiO2

This work 44.5 88 3.3 2.5 350 3.8
Pd-NP in methanol
Ref. [5] 6.7 82 0.5 20.0 240 0.1
Lindlar Catalyst
This work 44.5 74 2.8 2.5 130 8.6
NanoSelect LF 200
This work 44.5 71 2.7 3.5 223 3.5
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Fig. S1: Concentration profile of the hydrogenation of 2-hexyne catalyzed by 30[BMPL][DCA]-1Pd/SiO2.  

(conditions: T = 25 °C, p (H2) = 1.04 bar, m = 350 mg, 5 mL 2-hexyne, 5 mL n-octane, 80 mL n-heptane).
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Fig. S2  Y-t-diagram of the SCILL and industrial reference catalysts 

(conditions: T = 25 °C, p (H2) = 1.04 bar, 5 mL 2-hexyne, 5 mL n-octane, 80 mL n-heptane).
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